
 

AFOQT EXAM LATEST 2023-2024 ACTUAL EXAM 400 

REAL EXAM QUESTIONS AND CORRECT DETAILED 

ANSWERS WITH RATIONALES |ALREADY GRADED A 

 

Which one of the following does NOT affect density altitude? 

(A) Altitude 

(B) Atmospheric pressure 

(C) Moisture content of air 

(D) Temperature 

(E) Wind velocity - ANSWER- e 

 

The lifting power for dirigibles is now provided by? - ANSWER- helium 

 

Finger is to Hand as Tooth is to? 

(A) Tongue 

(B) Lips 

(C) Nose 

(D) Mouth 

(E) Molar - ANSWER- d 

 

Racquet is to Court as? 

(A) Tractor is to Field 

(B) Blossom is to Bloom 

(C) Stalk is to Prey 

(D) Plan is to Strategy 
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(E) Moon is to Planet - ANSWER- a 

 

Book is to Chapter as Building is to? 

(A) Elevator 

(B) Lobby 

(C) Roof 

(D) Story 

(E) Wing - ANSWER- d 

 

Alpha is to Omega as? 

(A) Appendix is to Preface 

(B) Beginning is to End 

(C) Head is to Body 

(D) Intermission is to Finale 

(E) Prelude is to Intermission - ANSWER- b 

 

Carrot is to Vegetable as? 

(A) Dogwood is to Oak 

(B) Foot is to Paw 

(C) Pepper is to Spice 

(D) Sheep is to Lamb 

(E) Veal is to Beef - ANSWER- c 

 

Micrometer is to Machinist as Trowel is to? 

(A) Blacksmith  

                               2 / 4

learnexams

get pdf at learnexams.com

LEARNEXAMS.COM

https://learnexams.com/search/study?query
https://learnexams.com/search/study?query
https://learnexams.com/search/study?query


 

(B) Electrician 

(C) Mason 

(D) Pressman 

(E) Welder - ANSWER- c 

 

Concave is to Convex as? 

(A) Cavity is to Mound 

(B) Hill is to Hole 

(C) Oval is to Oblong 

(D) Round is to Pointed 

(E) Square is to Round - ANSWER- a 

 

Dozen is to Score as? 

(A) VII is to XII 

(B) IIX is to XX 

(C) IIX is to XL 

(D) XII is to XX 

(E) XII is to XL - ANSWER- d 

 

Gown is to Garment as Gasoline is to? 

(A) Coolant 

(B) Fuel 

(C) Grease 

(D) Lubricant 

(E) Oil - ANSWER- b 
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Emerald is to Green as? 

(A) Canary is to Yellow 

(B) Cocoa is to Brown 

(C) Navy is to Blue 

(D) Royal is to Purple 

(E) Ruby is to Red - ANSWER- e 

 

Hyper is to Hypo as? 

(A) Actual is to Theoretical 

(B) Diastolic is to Systolic 

(C) Over is to Under 

(D) Small is to Large 

(E) Stale is to Fresh - ANSWER- c 

 

Horizontal is to Vertical as Warp is to? 

(A) Count 

(B) Pile 

(C) Selvage 

(D) Weave 

(E) Woof - ANSWER- e 

 

Immigration is to Emigration as? 

(A) Arrival is to Departure 

(B) Flight is to Voyage 
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